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S.Y.B.A. (Sem.-III) (CBCS) 
Core-202 : Home Science  

(Applied Life Science) 
 

Time :  3 Hours]  [Max. Marks : 70 
 
ÍÛæ̃ Û¶ÛÛ :   (1) ›÷ÄõÁõ ›÷¨ÛÛýÛ ©ýÛÛ× …ÛïèõÜ©Û þùÛéÁõÛé. 
Instructions :  Draw diagrams wherever necessary. 
    (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷¶ÛÛ …×ïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä¨Û þùÉÛÛÙÈÛé ™öé. 
     Figure to the right indicate marks.  
    (3) ©Û¾Ûé ›÷é ÜÈÛïõÅ¸Û ÅÛ”ÛÛé ©Ûé Í¸ÛÌ¤ø ¸Û¨Ûé þùÉÛÛÙÈÛÛé. 
     Mention clearly the options you attempt.  
 

1. (…) ¾Û¶ÛäÌýÛ¶ÛÛ ÄõÜµÛÁõ ›æ÷¬Û ÜÈÛÉÛé ÍÛ×¸Ûæ¨ÛÙ ¾ÛÛÜÐü©Ûà …Û¸ÛÛé. 14 

  Describe human blood group in detail.  

…¬ÛÈÛÛ/OR 

 (¼Û) ¶ÛÛêµÛ ÅÛ”ÛÛé : 

  Write note on :  

  (1) œ÷ÈÛ¶Ûà ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ…Ûé. 

   Characteristics of life.  

  (2) œ÷ÈÛ¶ÛÛ …ÜÍ©Û©ÈÛ ¾ÛÛ¤éø¶Ûà ›÷ÄõÜÁõýÛÛ©ÛÛé. 

   Necessity of existence of life.  

 

2. (…) ¼Ûà›Û×ïäõÁõ¨Û …é¤øÅÛé ÉÛä× ? ÈÛÛÅÛ¾ÛÛ× ¼Ûà›Û×ïäõÁõ¨Û …ÈÛÍ¬ÛÛ…Ûé ÍÛ¾Û›ÛÈÛÛé. 14 

  What is germination ? Describe the germination stages in bean seed.  

…¬ÛÈÛÛ/OR 

 (¼Û) Š©ÍÈÛéþù¶Û …¶Ûé ©Ûé¶ÛÛ ¸ÛóïõÛÁõÛé ÜÈÛÉÛé ˜Û˜ÛÛÙ ïõÁõÛé. 

  Discuss types of transpiration.  

 

3. (…) œ÷ÈÛÛ¨Ûä ÜÈÛÉÛé ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé. 14 

  Give a short account of bacteria.  

…¬ÛÈÛÛ/OR 
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 (¼Û) ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé : 

  Explain in short :  

  (1) ïõ¥øÛéÇ (¾Û•Û …¶Ûé ©ÛäÈÛéÁõ) …¶Ûé ÁéõÉÛ¾Û¶Ûä× ºæ×õþäù¶Ûà …ÛÜ¬ÛÙïõ …•Û©ýÛ©ÛÛ 

   Economic importance of pulses (Mung and Tuwar) and silkmoth.  

  (2) …›÷¾ÛÛé, ©ÛäÅÛÍÛà …¶Ûé ÅÛÝÈÛ•Û¶Ûà …ÛíéÌÛµÛàýÛ Š¸ÛýÛÛéÜ•Û©ÛÛ 

   Medicinal uses of Ajwain, Tulsi and Clove.  

 

4. (…) ¾Û¶ÛäÌýÛ¶ÛÛ ÒüþùýÛ¶Ûà …Û×©ÛÜÁõïõ Áõ˜Û¶ÛÛ þùÛéÁõà ÍÛ¾Û›÷ …Û¸Ûà ©Ûé¾ÛÛ× ¬Û©Ûä× ÄõÜµÛÁõ¶Ûä× ½Ûó¾Û¨Û ÍÛ¾Û›ÛÈÛÛé. 14 

  Draw and explain the diagram of internal structure of human heart. Explain 
blood circulation in it.  

…¬ÛÈÛÛ/OR 

 (¼Û) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : 

  Write short note on :  

  (1) ºéõºõÍÛÛ¶Ûà Áõ˜Û¶ÛÛ …¶Ûé ïõÛýÛÙ 

   Structure and functions of lungs  

  (2) …Û×”Û¶Ûà …Û×©ÛÜÁõïõ Áõ˜Û¶ÛÛ …¶Ûé ´ùÜÌ¤øÜ’õýÛÛ 

   Internal structure and function of eye.  

 

5. (…) ¸ÛóÊ¶Û¶Ûà ¶Ûà˜Ûé …Û¸ÛéÅÛ ÜÈÛïõÅ¸Û¾ÛÛ×¬Ûà ÍÛÛ˜ÛÛé ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ÅÛ”ÛÛé : 4 

  Choose and write the correct option from those given below each question :  

  (1) ¾Û¶ÛäÌýÛ¾ÛÛ× ïéõ¤øÅÛÛ ›Ûé¦ø Á×õ•ÛÍÛæªÛÛé …ÛÈÛéÅÛÛ× ™öé ? 

   (a) 2 ›Ûé¦ø (b) 4 ›Ûé¦ø 

   (c) 22 ›Ûé¦ø (d) 23 ›Ûé¦ø 

   How many pairs of chromosome are present in human being ?  

   (a) 2 pairs (b) 4 pairs 

   (c) 22 pairs (d) 23 pairs  

  (2) ïõˆ ÈÛ¶ÛÍ¸ÛÜ©Û¾ÛÛ× ¸ÛóïõÛ×¦ø ÈÛ¦éø ÈÛÛ¶ÛÍ¸ÛÜ©Ûïõ ¸Ûó›÷¶Û¶Û ¬ÛÛýÛ ™öé ? 

   (a) ¼Û¤øÛ¤øÛ (b) ÉÛ‘õÜÁõýÛÛ 

   (c) •ÛÛ›÷Áõ (d) ¾ÛæÇÛ 

   Which of the following plant shows vegetative propagations by stem ?  

   (a) Potato (b) Sweet potato 

   (c) Carrot (d) Radish  
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  (3) ¾ÛÅÛéÜÁõýÛÛ ÁõÛé•Û¶ÛÛé ºéõÅÛÛÈÛÛé ïõÛé¨Û ïõÁéõ ™öé ? 
   (a) ¾ÛÛþùÛ ¾Û˜™öÁõ (b) ¶ÛÁõ ¾Û˜™öÁõ 

   (c) …é¶ÛÛéÜºõÅÛàÍÛ ¾ÛÛþùÛ ¾Û˜™öÁõ (d) …é¶ÛÛéÜºõÅÛàÍÛ ¶ÛÁõ ¾Û˜™öÁõ 
   Who is responsible for spread of malaria disease ?  
   (a) Female mosquito  (b) Male mosquito 
   (c) Female anopheles mosquito (d) Male anopheles mosquito 
  (4) ÁõÛ“Ûà þùÛ×©Û¶Ûä× ïõÛýÛÙ ÉÛä× ™öé ? 

   (a) ïõÛ¸ÛÈÛÛ¶Ûä× (b) ˜ÛàÁõÈÛÛ¶Ûä× 

   (c) þùÇÈÛÛ¶Ûä× (d) ½ÛÁõ¦øÈÛÛ¶Ûä× 
   What is the function of canines ?  
   (a) Cutting  (b) Tearing  
   (c) Grinding  (d) Chewing  
 (¼Û) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé ”ÛÁõÛ× ™öé ïéõ ”ÛÛé¤øÛ× ©Ûé ›÷¨ÛÛÈÛÛé. 4 
  State whether the following statements are True or False :  
  (1) þùÁéõïõ ÍÛœ÷ÈÛ ¸ÛÛé©ÛÛ¶ÛÛ ›÷éÈÛÛé › ¼Ûà›Ûé ÍÛœ÷ÈÛ Š©¸Û·Û ïõÁéõ ™öé. 
   Each living organism produces another of its own kind.  
  (2) ïõÜÅÛïõÛ ÍÛ›÷Ù¶Û ïèõÜªÛ¾Û ÈÛÛ¶ÛÍ¸ÛÜ©Ûïõ ¸Ûó›÷¶Û¶Ûà Áõà©Û ™öé. 
   Budding is an artificial vegetative propagation.  
  (3) ¼Ûéî¤éøÜÁõýÛÛéºéõ›÷ ÈÛÛýÛÁõÍÛ¶ÛÛé …ÛïõÛÁõ ¤éø¦ø¸ÛÛéÅÛ ›÷éÈÛÛé ™öé. 
   The shape of bacteriophage virus is like a tadpole.  
  (4) ¶ÛÛ¶ÛÛ …Û×©ÛÁõ¦øÛ¶ÛÛ ÉÛÄõ…Û©Û¶ÛÛ ½ÛÛ•Û¶Ûé …Û×ªÛ¸Ûæ˜™ö ïõÐéü ™öé. 
   Apendix is the proximal region of small intestine.  
 (ïõ) ýÛÛé•ýÛ ÉÛ¼þù ¸ÛÍÛ×þù ïõÁõà ”ÛÛÅÛà ›÷•ýÛÛ ¸ÛæÁõÛé : 3 
  Fill in the blanks choosing correct word :  
  (1) ÍÛœ÷ÈÛÛé¾ÛÛ× ÅÛ“Û¨ÛÛé¶Ûà ÈÛÛÁõÍÛÛ•Û©Û Äõ¸Ûé Š©ÛÁõÈÛÛ¶Ûà Ü’õýÛÛ¶Ûé _______ ïõÐéü ™öé. 

     (…Û¶ÛäÈÛ×ÜÉÛïõ©ÛÛ, Š©’õÛ×Ü©Û, Ü½Û·Û©ÛÛ) 
   _______ is the process of inheritance of character in living beings.  
     (Heredity, Evolution, Variation) 
  (2) ¾Û¶ÛäÌýÛ¾ÛÛ× ÉÛÁõþùà _______ ³ùÛÁõÛ ¬Û©ÛÛé ÁõÛé•Û ™öé. 

     (œ÷ÈÛÛ¨Ûä, ÈÛÛˆÁõÍÛ, ºæõ•Û) 
   Common cold is caused in human beings due to _______.  
     (Bacteria, Virus, Fungi) 
  (3) ¾Û¶ÛäÌýÛ¶Ûä× ¾Ûä”ýÛ Š©ÍÛ›÷Ù¶Û …×•Û _______ ™öé. 

     (¾ÛæªÛÛÉÛýÛ, ¾ÛæªÛÈÛÛÜÐü¶Ûà, ¾ÛæªÛÝ¸Û¦ø) 
   _________ is the main excretory organ in human being.  
     (Urinary bladder, Ureter, Kidney)  
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 (¦ø) ýÛÛé•ýÛ ›Ûé¦øïõÛ ¼Û¶ÛÛÈÛÛé : 3 
  Match the appropriate pair :  

(…) / (A) (¼Û) / (B) 

(1) ¾ÛµÛ¾ÛÛ”Ûà Š™öéÁõ 
 Rearing of bees 

(1) ¤øÛñ¼ÛéïõÛé ¾ÛÛé¡éöˆïõ ÈÛÛýÛÁõÍÛ 
 Tobacco Mosaic Virus 

(2) TMV 

 

(2) …Ûé¸ÛéÜÁõ¶Û¶ÛÛé ÜÍÛ±ùÛ×©Û 
 Operin hypothesis 

(3) œ÷ÈÛ¶Ûà Š©¸ÛÜ«Û 
 Origin of life  

(3) …éÜ¸ÛïõÅ˜ÛÁõ 
 Apiculture 
 

________ 
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